TIME AND AGAIN

Linzee KUH McCray @seamswrite

DECEMBER DELIVERY
Yardage Requirements 1 Quilt 10 Quilts

ST

J#.0' 23360LC  Blocks
mmu, 1€ 10 LCs

6 8034 5

~

23366 17 Accent
||||I5|!2I!II||I||||I|| IIQ!]II I 7/8 yd 8 3/4 yds

7 06803 3

23364 12 Background
Mg 11/2yds 15 yds
52106 80344

7 2

23360 12 Backing
W 3 1/2yds 35 yds
5210680333

7 6

23366 17 Binding
Moy, 1/2yd S yds
52106 80350

City Park Pool by Clark Street Quilts
CSQ 118 + 48" x 60" + Retai MMM,



TIME AND AGAIN

Linzee KUH McCray @seamswrite

DECEMBER DELIVERY
Yardage Requirements 1 Quilt 10 Quilts

23360AB Blocks
M. AB 10 ABs
7752106 80328 2

23366 21 Background
mnmy- 4 3/4yds 47 1/2 yds
7752106 8035170

B 2336115 Backing
S i, 5 yds 50 ydis
52106 80338 1

SR 23367 15 Binding
GO [ 5/8yd  61/4yds
H : 7752106 80355 '8

e

Josh’s Jumping Jacks
by Clark Street Quilts A T
CSQ 119 « 63" x 81" » Retail
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